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QUESTION 1

In order to communicate a DISPLAY DATABASE (DB1) SPACENAM (TS1) command execution from one DB2 member
to another, which coupling facility structure is used?

A. GBP32
B. SCA
C. LOCK
D. GBPO

Correct Answer: B

QUESTION 2

Which DB2 trace is utilized to capture overall subsystem virtual memory consumption?
A. The DB2 audit trace.

B. The DB2 statistics trace.

C. The DB2 connection trace.

D. The DB2 accounting trace.

Correct Answer: B

QUESTION 3

Which of the items listed below is NOT a prerequisite for using CURRENT EXPLAIN MODE?

A. The dynamic statement cache is enabled.

B. The client application contains some explainable statements.

C. The PLAN_TABLE and DSN_STATEMENT_CACHE tables must be created using a EBCDIC encoding scheme.

D. Both PLAN_TABLE and DSN_STATEMENT_CACHE_TABLE exist on the DB2 server and the table names are
qualified with the current SQLID that is used when running the application.

Correct Answer: C

QUESTION 4

A single table should allow for up to 100 Terabytes of application data. How do you design your table space?
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A. A segmented compressed table space, BUFFERPOOL BPO.

B. A LOB table space with DSSIZE 64GB, BUFFERPOOL BP8KO.

C. Atable space with NUMPARTS 1024, DSSIZE 64G, BUFFERPOOL BP16KO.

D. A table space with MAXPARTITIONS 2048, DSSIZE 64G, BUFFERPOOL BP32K.

Correct Answer: D

QUESTION 5

Which of the following results in improving performance of a load job to load data into an indexed partitioned table space
with multiple indexes?

A.LOG YES

B. PREFORMAT

C. SORTKEYS integer
D. convert input data

Correct Answer: C
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